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AQI%|2 0{ZEI0|AA T 25 ™ O|F (Full-Duplex)2 AF& ST & MM E|0o4 U X|BF etherconfig ->
ojC/o{E & I} o{ZZI0|HAE HFO/F (Half-Duplex)S E A& LICH
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Cisco ESA(Email Security Appliance), WSA(Web Security Appliance), SMA(Security Management
Appliance) & 2 & HT 2| AsyncOS&ILICt.

O| E&l= TOIS(Full-Duplex)& XMAlol| & & + gl oZEto|A0| LIES{Z FHET EHO|S
(half-duplex)S 2 E0t7t= S0 SSHLICOJHL/H 20t & EH0| LIt TO[S (Full-
Duplex)2 A8t HESHEIE A 2|X[of AZE O FIEE A S350 T0|S EEO0M S
AI_IE _/I\_ (zlll_xl "_‘2|'O|"_HOI: 3|‘|_||:|. AutonegotlateE AI. ol.xl OI‘E% AE'|X'|on|EI|- = xol A'lX'{o E_I
QlE = giE E9 UHHXM o2 58 £IE "Half-Duplex" MHOIX|2 &4 ST} CedELcH
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CHE 29| B2 o{ZZ0|HAE RHFEI5tH CHA| TO|F A EHZE SotgLCh A 2| X|7t Cisco
Catalyst@! & 7='° , AutoselectE At&35t0{ I 71 &4/ 0] O|F 0{X| A|AEIO| 7S E iotCh Full-
DuplexZ ._EFEL'EE grLct.
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